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ProBLEMS AND EXERCISES -

15. Short. Max
ing questions on the basis of the monopolists situa
illustraed in the following graph.

a. At what output rate and price does the monopolist
operate?

b.In equilibrium, approximately what is the firmy's
total cost and total revenuc?

Ru Prof ation) Answer the follow

16. (Monopoly) Suppose that a. certain manuf
has a monopoly on the sorority and fraternif
business (2 constant-cost industry) because it h
suaded the *Greeks” to give it exclusive rights (0}

a. Using demand and cost curves, draw a diagea
picting the firm's profit-maximizing price and)

. What i the firm's economic profit or loss in equi put level.
librium? Why is marginal revenue less than price for
firm?
On your diagram, show the deadweight loss d
oceurs because the ourput level is decermined b
monopoly rather than by a competiive market. .
What would happen if the Greeks decided o chaf
the manufacturer a royalty fee of $3 per ring?
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